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ECE 3455

Quiz #5

 April 11, 2002

1.  This quiz is closed book, closed notes.

2.  Show all work necessary to complete the problem on these pages.  If you go on to another page, indicate clearly where your work can be found.  A solution without the work shown will receive no credit.

3.  Show all units in expressions and figures.

4.  You will have 30 minutes to work on this quiz.

________________/50

[image: image1.png]The BJT in the circuit below has p = 50 and Vcggar = 0.2 /V/, and is operating in
the linear (forward active) region. (You may assume this to be true without proving
it.) Find a value of B that would cause the BJT to be in saturation instead of the

linear region. Do not make any changes in the circuit; assume only that B has
changed.
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